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def B#& (5l#1, 5182, ) ; RS B ¢ 31K

— ’ ° d;‘ultly(a,): T F#EOER GEfE) (& [return] THEE
c = multiply(a, b) o — ath 1:
| _returnc — |
multiply(a,b) = a* b # multiply(2,3) OERETU B

print("c=",multiply(2,3))

8 c=06
pythonDFEMZ I AF—7 T —ATEL 2 EHZE L
% : turtle graphics
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e for, while

e if (FRHFDIR)

e if elif, else
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for )l/—7°t range for Z# in A7V 7

NKE RITX h
XZF5 - - E# G E

N— range( )
v BHEFIDY X h%ZiRYEH

ES P

for i in range(4)

range(start, stop|, step])

range(0,4,1)

v =0 1 2 3
—F5ET st
. 0,1,2,3
for i in range(4): o Ry
forward(100) >0, 2
right(90) range(4,0,-1)
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If & else

b L~Gwld, €5 THRIINIE~
if =4 | L8R e

BT =3
* B e F LW
NAED L T (2ETT == ENE
True (,E.:) s 1= =
2k DN LN > E@;E_;ﬁ:? ]7 > LYREWL
T .
X else: » e
) >= UL
False(%) B & X (T > 4 — = 4= X
g %5%?& ] HMED & T ITELT <= NES
f |
—_—
—ILEE
© number = 2*3*4 / ) B
if number < 2: AND, OR, NOT
print("Number is less than two.")

else:
print("Number is not less than two.")



If, elif, else

bL~EnlE, 25 TELDHBL~EDIE, WTIhTHEITIIE~

True (E)
b >[ print("2 ¢9™") ]7

False({3)

B
1k O,J\E/True (“)>[print(" 1 &Dha L\")]f

=
alse(f) >[pri nt("WFNTHER \,\")J

e

O number = 2*3*4
if number == Z:
print("2Td")
elif number < 2:
print("1&XU/hE0")
else:
print("WIFN THHUEEA.")

WIFNTHHYEEA.

if =01

R1IAED & =T (C

elif 1FH2:

A2HAED L& =

else:

i
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-

=

~R1T

LEBUEE F
BRI =Y S
Z LW
1= L <AL
> L REWL
< Ky
>= LA
<= AR

WINTHEWGEIZELT

f

7 —JI/E’EL?F
AND, OR, NOT
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BB ZTU0HY
EHANCETEEZHOET (
) def Yactorl n)

S| =x 5 ZaWe, ERIL—TICR5 # BIRITONE U IC & 2 Remst e

BIEEEZF > IcEHOERNBFIC if n ==
_ . o N return 1

HFRFOH UL —TTHERRTE D, At alse:

IHEEFEOCLEUDOAMNE LY return n x factorl(n - 1)
Bl BES, TANT Y T def factor2(n):

:Hk:nx(n—l)x...x3xle #fOr X{IC—CJ:DBJ:IS;I%E-I-:%—
— answer = 1

. for i in range(1l, n+1):
n! — { 1, ifn =20 answer = answer xi

nx(n-—1), ifn>0 return answer




741K FyFH
74 R Fy FEINHEZ I8 IL. HRTESE L LBk

E=2HiE M1 : (1+/5)+2] =1.618:
INE714FRFyFEINDOEYD S5 FDLLE—RLET,
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11
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metl 1:1.618

1.618

1.618
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n,_{1, ifn =0 Fo=0,F =1
« o ' . o
nx(n-—1)= ifn>0 F=F_ +F,_, (n>2)
def factgrl(n): - def F1bonacc11( ) :
# BRHOHUICKSPEESTE # BREOHUIC LD T« Ry FH35

: —_— . 1f n < 2:

1t n == 0: return n

return 1 else:
else- return Fibonaccil(n-1) + Fibonaccil(n-2)

return n x factorl(n — 1) ¢ ciionaccioim s
# forXlc &2 7«7y FHI

def factor2(n): i <)
# for Mlck hEEETE return n
else:
answer = 1 a=1
for 1 in range(1l, n+1): $=1, | o)
_ . or 1 1n rangewn-— .
answer = answer x1 fotal = 2 + b
return answer b=23
a= total

return a 1
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from ColabTurtle.Turtle import *
initializeTurtle()
def koch(n, length):
if n <= 0:
forward(length)
else:
koch(n-1, length/3)
left(60)
koch(n-1, length/3)
right(120)
koch(n-1, length/3)
left(60)
koch(n-1, length/3)
1f __name__ == ' main__ ':
speed(10)
bgcolor("white")
color("orange")

penup ()
goto(250, 100) #E2 AZEE
pendown ()

right(90) # #&EiRZs5I<cHICEDHEET ZHN
# v RHiRZ40ES 5

for 1 in range(4):
koch(3, 300)
right(90)

penup ()

home ()
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from ColabTurtle.Turtle import *
initializeTurtle()

def Sierpinski_gasket(n, length):
if n <= 0:
# B ALD

else:

Sierpinski_gasket(n-1, length/2) # —%=
forward(length) # Eff%=#<

left(120) # 120EkI(C
Sierpinski_gasket(n-1, length/2)

forward(length)
left(120)
Sierpinski_gasket(n-1, length/2)
forward(length)
left(120)
1f _name__ == ' main__ ':
speed(13)

bgcolor("DarkRed")
color("Gold")

penup ()
goto(200,400) #E= A ZZE
pendown ()

right(90) # &ERZs5|I<cHICEDRETZHaN

Sierpinski_gasket(5, 400)

penup ()
home ()
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from ColabTurtle.Turtle import
initializeTurtle()

def binary_tree(n, length, angle):
1f n > 0:
forward(length)
right(angle)
binary_tree(n-1, length x 0.7, angle)
left(angle x 2)
binary_tree(n-1, length *x 0.7, angle)
right(angle)
backward(length)

1f __name__ == ' maln_
speed(13)
bgcolor("LawnGreen")

color("DarkGreen")

penup ()
goto(400,400) #&E= AZEE)
pendown ()

binary_tree(8, 100, 30)
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length: — DK

length = sqrt(2)

E# levy(length,n) =% Z % n=10DEE

BIAIIZEIEICED

Step 0 levy(v20) |———



length: — DK

length = sqrt(2)

4 levy(length,n) %= 2 % n=10D%a

—ADRI #1/\/218

dl = length/sqrt(2)

BIRTEUH L

=)

BIRIFUM L
B =

forward(1)
left(45);




def levy(length, n):

1f n == 0:
forward(length)

else:
dl = length/sqrt(2) —LDRE%1//213
left(?7?)
levy(dl,?7?) dl = length/sqrt(2)
right(??)

levy(dl,?7) Sedeiies
left(?7?

T -
AR L

length = sqrt(2)
n =105

levy(\/z,l) /) 00

forward(1)
left(45);




X UTH KD : Dragon HIFR

EifrztNzELAET S
BEA_EFL=AFD
P2IHICEZTHZ D

PIRRIE, XA ICETIC
AMBDLSTIITEZTIRZS
NzirDIRT
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2T w70
(n=0)

AT 71
(n=1)

AT Y72
(n=2)

AT w73

L — L — L — L — L — L — L — L — 0

% — L — L — L —

— L — L — L — -wa



Dragon RFRDFED E > K n=2,length=2 @ Dragon Hf#R

AT 700 2 AT Y 702 | //‘\\\
(n=0) T (n=2)
forward (2) ; Rl = "\
left (45) ;
2Ty 71 4 left (45) ;
(n=1) forward ( (2/sqrt (2.0) ) /sqrt (2.0) ) ;

right (90) ;
forward ( (2/sqrt (2.0) ) /sqrt (2.0) ) ;
left (45) ;

L — L — L — L — L — L — L — L — [

left (45) ;
forward (2/sqrt (2.0) ) ;

right (90) ;
left (-45) ;
forward ( (2/sgrt (2.0) ) /sqgrt (2.0) ) :
right (-90) ;
forward ( (2/sgrt (2.0) ) /sqgrt (2.0) ) :
left (-45) ;

left (45) ;

right (90) ;
forward (2/sqrt (2.0) ) ;
left (45) ;
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